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Part A

Section Id : 92090683
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906134
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 9209064150 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Ui & SNYR W Rgfeieg uyi & 3w difve

T geu ¥ e Q9 S 9
T o1 U & wR s 3,

TGl &1 HAGR AYY B G,
3R, Bdl D T HIeT ¥ § |
TR &% R H Uh 7 3{F B,
g1 gt A e off O 9 I
YU §H Fel fie, &9 Yd g1 |
o g 8, a1e g @l il a,
16 Hedl & HUAS Ulds feard |
T srary o1, #4 7Ted dfe 94 3,
HHT 6T T T, TN ST Hia U7l

Sub questions

Question Number : 1 Question Id : 9209064151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dO ¥l | 1 gl Gen?

(1) ©g 2) U8
(3) CGE
Options :

92090616401. 1
92090616402. 2
92090616403. 3
92090616404. 4

Question Number : 2 Question Id : 9209064152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farsr forgt = wep ot dier =1gT 3vrar?

(1) CEE R (2) &=
3) TR (4) T
Options :

92090616405. 1
92090616406. 2
92090616407. 3
92090616408. 4

Question Number : 3 Question Id : 9209064153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GAGERGIGAET g AT —

(1) 9P (2) afdY
@ ¥E (4) R
Options :

92090616409. 1
92090616410. 2
92090616411. 3
92090616412. 4

Question Number : 4 Question Id : 9209064154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®id = a1 sl T U1

(1) el (2) T
(3) Wgd (4) HHA
Options :

92090616413. 1
92090616414. 2
92090616415. 3
92090616416. 4



Question Number : 5 Question Id : 9209064155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$fd 7 fbd a1 4r?

(1) dF& (2) HAAI DI
(3) MIEATSI (4) offad &
Options :

92090616417. 1
92090616418. 2
92090616419. 3
92090616420. 4

Question Id : 9209064150 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Ui & SNYR W Rgfeieg uyi & 3w difve

T geu ¥ e Q9 S 9
T o1 U & wR s 3,

TGl &1 HAGR AYY B G,
3R, Bdl D T HIeT ¥ § |
TR &% R H Uh 7 3{F B,
g1 gt A e off O 9 I
YU S 8] e, &d Yd 81 T |
o g 8, a1e g @l il a,
16 Hedl & HUAS Ulds feard |
T srary o1, #4 7Ted dfe 94 3,
HHT 6T T T, TN ST Hia U7l

Sub questions

Question Number : 1 Question Id : 9209064151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dolR 4R H &1 8l Ben?

1y w8 2 U8
(3) SR (4) o
Options :

92090616401. 1
92090616402. 2
92090616403. 3
92090616404. 4

Question Number : 2 Question Id : 9209064152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fg gt A usp ot dier =1 3

(1) TR 2) =
(3) [N 4) uudter
Options :

92090616405. 1
92090616406. 2
92090616407. 3
92090616408. 4

Question Number : 3 Question Id : 9209064153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FATEPRFmefFEd — )

(1) dIa% (2) 3fEY
(3) FHl (@) S
Options :

92090616409. 1
92090616410. 2
92090616411. 3
92090616412. 4



Question Number : 4 Question Id : 9209064154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hfd = HOT &l ST 41?

(1) wel () Ted
(3) dgdR (4) Y
Options :

92090616413. 1
92090616414. 2
92090616415. 3
92090616416. 4

Question Number : 5 Question Id : 9209064155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 9 fag Iar ur?

(1) diSdl (2) HHd &I
(3) METSHI (4) Gilad &1
Options :

92090616417. 1
92090616418. 2
92090616419. 3
92090616420. 4

Sub-Section Number : 2
Sub-Section Id : 920906135
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209064156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 31yal 9aAH & o T § IuHT e a/d & [h gE Ueg & 9y fa9ma: fvar &
1Y TSIl 81 SYB! Ped & -

(1) fagmo (2) FRS
3) faufd 4) FTHISE T
Options :

92090616421. 1
92090616422. 2
92090616423. 3
92090616424. 4

Question Number : 6 Question Id : 9209064156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T YAl YA & o T4 § IGHT Yo+ a1 & fohedl gE Usg & W1y fagiva: a1 &
1Y F1d B 81 IUSH B ¢ -

(1) <o (2) SRS
3) faufda @) FAHABE T8
Options :

92090616421. 1
92090616422. 2
92090616423. 3
92090616424. 4

Question Number : 7 Question Id : 9209064157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A duHE

B. Held

c. IR

D. WHHG

e o

Hid fdu 7y faedl § 9 93l IR &1 99 B ;

(1) &dd A, B, C

(2) dd A, B D

(3) @&dd A CE

(4) ad A C,D
Options :

92090616425. 1
92090616426. 2
92090616427. 3
92090616428. 4

Question Number : 7 Question Id : 9209064157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHYRY THRN &1 ISR ¢ -
A dgHdE

B. Weled

C.  HRE

D. WHHAS

. fodm

Hid feu U fasedl § © Ul IoR &1 94+ Bifolu
(1) @dd A, B, C

(2) &dd A, B D

(3) &dd A CE

(4) &Hadd A C.D

Options :



92090616425. 1
92090616426. 2
92090616427. 3
92090616428. 4

Question Number : 8 Question Id : 9209064158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | & Y T 11 T e St

il (dagd) |1 (deHH)
(A) HNR (m qul
@) faae@r y  IEH
(€) NEHT aiy  oof
(D) 4UH (V) HBY

i feu v fasedi © 9 gl 3T &1 994 DI

(1) (A)-(I1), (B)-(I), (C)-(IV), (D)-(li)
(2) (A)-(IV), (B}-(1N), (C)-(IN), (D)-(1)
(3 (A)-(1), (B)-(I1), (C)-(l1}, (D)-(1V)
(4) (A)-(IV), (B)-(1), (O)-(IN), (D)-(111)

et

Options :

92090616429. 1
92090616430. 2
92090616431. 3
92090616432. 4

Question Number : 8 Question Id : 9209064158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt | & Ty g 1 & e ife

gl-1 (hgd) ~I1 (CeHTH)
(A) HI (m qu
B) fo=eeT iy TER
(€) TR iy oof
(D) Ui (Iv) HPY
i feu v fasedl § § Tdl IO &1 98- SIfNT

1) (A)-(I1), (B)=(I), (C)-(IV), (D)-(lI)
2) (A)-(IV), (B3-(1), (C)-(N), (D)-(1)
3 (A)-(1), (B)-(11), (C)-(l1), (D)-(IV)
4) (A)-(IV), (B)-(1), (C)-(1D), (D)-(111)

et

(
(
(
(

Options :

92090616429. 1
92090616430. 2
92090616431. 3
92090616432. 4

Question Number : 9 Question Id : 9209064159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e e 1 g s © -

(1) Hi )
3) @ 4 ®
Options :

92090616433. 1
92090616434. 2
92090616435. 3
92090616436. 4

Question Number : 9 Question Id : 9209064159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e e 1 g s © -

(1) Hi )
3) @ 4 ®
Options :

92090616433. 1
92090616434. 2
92090616435. 3
92090616436. 4

Question Number : 10 Question Id : 9209064160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et | 6 1Y G 1| 1 i Sifag

el (HBTER) T -1 (32
(&) < STaAl () ddd ol UleiH &1
(B) TR H IEAl () R &l
(C) €I HI e A () S HLIEA
(D) o O AT (V) TSI Al

i fau e fawedl © 9 T8 3 &1 994 BT

(1) (A)-(In), (B)-(1D), (C)-(1), (D)-(1V)
(2 (A)-(IV), (By-(11), (C)-(I), (D)-(I1)
(
(

L

3 (A)-(1), (B)-(), (C)-(I), (D)-(IV)
4) (A)-(11), (B)-(I11), (C)~(1), (D)-(1)
Options :

92090616437. 1

92090616438. 2

92090616439. 3

92090616440. 4

et

Question Number : 10 Question Id : 9209064160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il | & Gy Gl 1| &7 e By

-1 (HBTER) Tt -1 (31
(Y TG () ddd bl Yleid b3l
B) TR H I ()  URB B
(€) d I BT Y B (1) S HIIEA
(D) 1 TTOTRY AT (V) SIS I

Hrd fau v fawredl § € gl 39 &1 994 ST

(1) (A)-(I1), (B)=(I1M), (C)-(1). (D)-(IV)
(2) (A)-(IV), (B)-(1), (C)-(1), (D}-(l)
(3) (A)=(1), (B}=(I1), (C)-{11), (D)-(IV)
(4) (A)-(11), (B)-(111), (C)-(I1), (D)-(1)

Options :

92090616437. 1

92090616438. 2

92090616439. 3

92090616440. 4

Question Number : 11 Question Id : 9209064161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6 cm I 9101 YT & U 319 el &I U9al &2 0.6 cm  Biod arell BI¢1 319 7ie &8 51
39 YR &1 715 a1 1 G- 1d DI |

(M 5000 (2) 1000
(3) 2000 (4) 2400
Options :

92090616441. 1
92090616442. 2
92090616443. 3
92090616444. 4

Question Number : 11 Question Id : 9209064161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



6 cm BIoT @rd o1 & U 319 Tidl @I fUgar # 0.6 cm B arelt 311 319 71E &1 151
59 UHR 413 715 1] Bl Y] F1d Bifeid |

(n 5000 (2) 1000
(3) 2000 (4) 2400
Options :

92090616441. 1
92090616442. 2
92090616443. 3
92090616444. 4

Question Number : 12 Question Id : 9209064162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afz sina=% 3 tta’“" H1 U 1 FIR|

ecd
m = @ =
® = @ %
Options :

92090616445. 1
92090616446. 2
92090616447. 3
92090616448. 4

Question Number : 12 Question Id : 9209064162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofE sing=2 2, N0 o s e

13 sect
15 17
(1) 2 (2) 3
12 2
(3) 4y =

13 5



Options :

92090616445. 1
92090616446. 2
92090616447. 3
92090616448. 4

Question Number : 13 Question Id : 9209064163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6% dI® & a3 ¥ faa IHT § 7 3,300 &I AR 3,399 g1 9w, Safd sare ufa SHE!
YOIfd g1 8

(1) 6HgH @ 199
(3) 194 6HEA 4 294
Options :

92090616449. 1
92090616450. 2
92090616451. 3
92090616452. 4

Question Number : 13 Question Id : 9209064163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6% a1t &l aX ¥ foa IHT ® # 3,300 &1 WM 3,399 8§ Ui, Safs =arw ufa SHE!
oo g1 38T &

(1) 6HEH ) 199
(3) 198 6HEH @ 2a4
Options :

92090616449. 1
92090616450. 2
92090616451. 3
92090616452. 4

Question Number : 14 Question Id : 9209064164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U& gHMER 100 U9 99, 40 U1 & g geg W a1 @y Ui a1 g1 39dT ary
yfarerd i1d o (GrHed & &) W aF Hg)) ;

(1) 64.47% (2) 66.67%
(3) 68.80% (4) 55.59%
Options :

92090616453. 1
92090616454. 2
92090616455. 3
92090616456. 4

Question Number : 14 Question Id : 9209064164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U& gHMaER 100 U9 996, 40 U1 & g geg W a1 @y Ui &val g1 39T ary
Ufaerd 91d P (G2ed & o) ®IF 9% I8)) ;

(1) 64.47% (2) 66.67%
(3) 68.80% (4) 55.59%
Options :

92090616453. 1
92090616454. 2
92090616455. 3
92090616456. 4

Question Number : 15 Question Id : 9209064165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A smeHt 3R 2 T8 e & &1 10 &9 ¥ o3 I&d §, Tald 2 HeHl 3R 3 TSd 39!
HH P 8 A T HLTHd &1 3 ATGH 3R 1 ASH1 IH B DI [had g H P UT?

1 2
1 11— 18—
L 18 @ 11
1 9
3 9— 4) 11—
=) 11 ) 11

Options :

92090616457. 1
92090616458. 2
92090616459. 3
92090616460. 4

Question Number : 15 Question Id : 9209064165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i et SR 2 e fardl &M #1 10 39 # & 9&d € wafd 2 sieHt 3R 3 I8 Il
FH H1 8 I3 H HI TFad &1 3l MSH 3R 1 TSH1 39 S Bl g &3 § & urate

1 2

11— 18—

L 18 @ 11
1 9

3 9— 4) 11=
() 11 ) 11

Options :

92090616457. 1
92090616458. 2
92090616459. 3
92090616460. 4

Question Number : 16 Question Id : 9209064166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forg & a1 ok 31 TS wemefi & &9 Way &) e ¥ 1@d §U, W 91d difeu|

3:81::4:7

(1) o4 (2) 32
(3) 256 (4) 148
Options :

92090616461. 1
92090616462. 2
92090616463. 3
92090616464. 4

Question Number : 16 Question Id : 9209064166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg ;& ar2 oIR 41 1S el & o9 Udy &1 eF § Wad gU, W I1d B

3:81::4:7

(1) 64 (2) 32
(3) 256 (4) 148
Options :

92090616461. 1
92090616462. 2
92090616463. 3
92090616464. 4

Question Number : 17 Question Id : 9209064167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafiiEa 31 Ml @1 firdet 39 W fdar $ifon oiR Fuffa @it & 53 9 @ $F-w
e A feu U FyE o 1S 9 & 9HfUd 938 W dild® &9 9 e a3l g

HUF :  UPSC Udiesfl # S%d g1 &1 SR At g 81 o8 Fafta s off
Udensti # S %d g ol g

freepd 1 Wi G v, Fafa T8 8al
1 ¥t sFehvl o, Frafie T e €

(1) &ad | UIeq Bl 8
(2) ad | U BT &
)
)

(3) SFIHIAFIS UH G UTaH Sl 8
(4) SFIHAPHS UH |11 9T T8l sl g
Options :

92090616465. 1
92090616466. 2
92090616467 3
92090616468. 4

Question Number : 17 Question Id : 9209064167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafed 3 Fesel @1 fideR 39 W [JaR Sifon ofR Ruiia S & 33 3§ 3 $H-
el A R U FyE o ) 115 g & 9d U3 § R dilid® &9 9 e $3dl ¢

®UF - UPSC Udlesll H of%d g &1 SRU SHafid g 81 oo Faftd s ot
gdensii # sRBd g oild g

Fepd .1 Wi 3l &1, Fafta 78 gal
1 gt sl o, Fafia ad e g

(1)  ad | ITa- ST 8
(2) Had | UTEH AT 6
(3) oI H A DIg TP | 11 UTe 3l &
) SHFIH A SIS TP | 71 9T el Hedl &

(4

Options :
92090616465. 1



92090616466. 2
92090616467. 3
92090616468. 4

Question Number : 18 Question Id : 9209064168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fageh &1 418 § & I9P ufd &1 9139 19 F 918 fb=g 22 fG9vaR ¥ ugd 31 Sdfs 39!
U ®1 OIS & [ 39® YF &1 oFHled 20 & 918 g 24 [Gaaw 9 ugd g afg Sl gl &,
ad faget & uft &1 oA FafifGa A a P A g

(1) 23 Ra=r (2) 22 feumER
3) 21 fRw=R 4) 20 feamaR
Options :

92090616469. 1
92090616470. 2
92090616471. 3
92090616472. 4

Question Number : 18 Question Id : 9209064168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faget ®1 a1g & i Iud ufd &1 FHT 19 F 912 b 22 GyraR 9§ ugd | Jafd Igai
U &1 U1E ¢ & 396 g3 &1 S HfeA 20 & 915 fbeg 24 foarar A ugd 81 o ST Wal 8,
a4 gt & ufa & o FofEa A ea A @

(1) 23R (2) 22 feumR
(3) 21 fER 4) 20 ReR
Options :

92090616469. 1
92090616470. 2
92090616471. 3
92090616472. 4

Question Number : 19 Question Id : 9209064169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

gf¢ SPRING & e HIMT H RTOQQSOMOFH foraT &Tdl 8, 9 MEDIUM &1 $e YISl |
Fafafead o 9 f$9 ueR fomar smem

(1) LNTDEOALM (2) LNICDOALN
(3) LNICDOALN (4) LINCEOALN
Options :

92090616473. 1
92090616474. 2
92090616475. 3
92090616476. 4

Question Number : 19 Question Id : 9209064169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gf¢ SPRING & e HIMT H RTOQQSOMOFH forET STdl 8, 9 MEDIUM 1 e YISl |
Frafafea @ 9 &9 yeR fergr smem

(1) LNTDEOALM (2) LNICDOALN
(3) LNICDOALN (4) LINCEOALN
Options :

92090616473. 1
92090616474. 2
92090616475. 3
92090616476. 4

Question Number : 20 Question Id : 9209064170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US TSP, U Wl B 3R FURT S el ¢ T8 WY a1 & T & U J3 I g o' | a6 39
Wl & TSB! $ Uy 71 Gy 8

(1) &gd (2) Hre
3) H (4) el
Options :

92090616477. 1
92090616478. 2



92090616479. 3
92090616480. 4

Question Number : 20 Question Id : 9209064170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US TSP, U Wl B 3R FURT S el ¢ T8 WY a1 & T & U J3 I g o' | a6 39
Wl & TSB! $ Uy 71 Gy 8

(1) d@gd (2) 9Tt
3) H (4) el
Options :

92090616477. 1
92090616478. 2
92090616479. 3
92090616480. 4

Question Number : 21 Question Id : 9209064171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | F A g | @ e St

-1 (BT B ) Tt -1 (ST
Ay SIcRIPIY Yt e (1 faem
8) SfRIPTE T Sl sifiyeRn () TR
() UYFI TP 9 AUEHGH BN iy R

(D) Uik uwrid anfifes wgam (V) ST
g feu o fasagl & 9 98l IR &1 994 i
(1) (A)=(IV), (B)-(1), (C)-(1n), (D)-(M)
(2} (A)-(IV), (B)-(I), (C)-(11), (D)-(I1)
(3) (A)-(), (B)-(1V), (C)-(11), (D)-(11)
(4) (A)-(1), (B)-(IV), (C)-(1), (D)-(1)
Options :

92090616481. 1
92090616482. 2



92090616483. 3
92090616484. 4

Question Number : 21 Question Id : 9209064171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il | S |1y gl 1| 6 e St

-1 (BT B ) Tt -1 (ST
Ay SIcRIPIY Yt e (1 faem
8) SfRIPTE T Sl sifiyeRn () TR
() HYF AP 91 TIHT By ay  RTR
(D) Qim yrid enfdes wEd (V) Sar

i f&u e fasedi © 9 98l GTR &1 994 Pifg:

(1) (A)-(V), (B)-(I}, (C)-(1), (D)-(1)
(2) (A)-(IV), (B)-(1), (C)-(I1), (D)-(N1)
(3) (A)-(1), (B)-(IV), (C)-(11), (D)-(H1)
(4) (A)-(11), (B)-(IV), (C)-(I1), (D)-(1)

Options :

92090616481. 1
92090616482. 2
92090616483. 3
92090616484. 4

Question Number : 22 Question Id : 9209064172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 U 3115 3R (CSIR) &1 WyH Afge AeiHeyd i o7

(1)  Herfd \RiYEr (2) AcoTyrE! HACHed!
(3) 3N FgU=d (4) fagrEr RS
Options :

92090616485. 1
92090616486. 2
92090616487. 3
92090616488. 4



Question Number : 22 Question Id : 9209064172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty 31T 3R (CSIR) 1 UYH Afgd AeHewe &H oi?

(1)  Herfd \RiYEr (2) FAcTynE! dAmded!
(3)  SEUNISUd 4) TaurE RS
Options :

92090616485. 1
92090616486. 2
92090616487. 3
92090616488. 4

Question Number : 23 Question Id : 9209064173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 & A fdu e &
®YF| . HERIdIE!, &Y &1 gai= A sifte g1 ¢ et Fgfd didum & siwse
76 1 3f=T7d PR GRT B S B

FUYT Il ;.  HEHEE!, HE & Sae! H, die &1 EER faid I & IHdl gl
JUIT FYA & fd 1, - iU 10 Gl § 9 9 w1 994 ifoig

(1) YRS Ed R
(2) &YA1 3R || ST T B
(3) HYI HEIE, Wib HYA 1| TTed &
(4) YT T €, AibA HYF | FET 8

Options :

92090616489. 1
92090616490. 2
92090616491. 3
92090616492. 4

Question Number : 23 Question Id : 9209064173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R sy RumU §:

HYF| . HERIEAR!, ¢¥ &1 gai= A sifterl gl € et Fgfd v & g
76 @1 3(=T7Id APURT GRT B S 81

FYTIl:  HEHAE!, TS & Sde! H, die &1 AEER 3id U & Hdl gl
JUITd FYA & AP H, A fou e Adeul § A 9 ITd1 994 Hifolw

(1) S| SRS wd R
(2) Y1 R | & TTEd B
(3) Y| HElg, Wih HYUA || Ted &
(4) YT TEA 8, AibA HYA | ¥l 8
Options :
92090616489. 1
92090616490 2

92090616491. 3
92090616492. 4

Question Number : 24 Question Id : 9209064174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A < Py Ry e 8
HYF| 0 YT IR IGHT (NRHM) 31 IHRY 22 30 2008 61 faam mar un

HYTI:  (NRHM) $T 3520 R 9 &1 3R Aged U <X &1 92/l 81
IWIT B & Sfaid §, A9 e e faeed § 4 93 Iuga S &1 994 Sifeg

(1) S 3R 1 ST T8l 8
(2) Y| SR T e §
(3) YA Helg, diced $YUA Il 0 ©
(4)  HYF | A B, AeA B 11 HEl 8

Options :

92090616493. 1
92090616494. 2
92090616495. 3
92090616496. 4

Question Number : 24 Question Id : 9209064174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i3 &1 Py Ry 8
HYT| ;PR AR IGHT (NRHM) &1 IHRY 22 30w 2008 H1 faar mar un

HYTI:  (NRHM) $T 3520 I 9 &3 3R Alged I &3 &1 9l B
IWRIE HYF & Sfaid o, A1 e e faead T 8 99 Iugsw I &1 994 Do

(1) @Y 3R 1 SE e
(2) YR I EH T @
(3) Y| Wl g, e HYA 1 e €
(4) YT A B, ABA YT 11 981 B

Options :

92090616493. 1
92090616494. 2
92090616495. 3
92090616496. 4

Question Number : 25 Question Id : 9209064175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 Sw 31 ¢ 711 & gR1 339 9 2022 e Siiar o1

(1) SiRefermn (2) IR
(3) WA (4) &SI
Options :

92090616497. 1
92090616498. 2
92090616499. 3
92090616500. 4

Question Number : 25 Question Id : 9209064175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 2w &1 29 71 & gRT 339 9 2022 ¥ Siar 41

(1) Sl (2) wIRmE
(3) WA (4) &S
Options :

92090616497. 1
92090616498. 2
92090616499. 3
92090616500. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Part B: Economics

92090684
2

Online
Mandatory
75

75

300

Yes

0

1
920906136
Yes

null

Question Number : 26 Question Id : 9209064176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| : In the simple linear regression model with an intercept, the
regression slope when multiplied by the explanatory variable
X will give the predicted Y.

Statement—Il :  In the simple linear regression model, the regression slope
indicates by how many units Y increases, given a one-unit
increase in X.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090616501. 1
92090616502. 2
92090616503. 3
92090616504. 4

Question Number : 26 Question Id : 9209064176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4= g Fwa fge o # .

FHE 1 FAEVE Oy gunY Es IoyEn uizs O goieEy 2 % 99 SUEnEE g 9 X
Ty faar s & A @igEE Y wiE g

w11 Hary e ufema ufreg § gayg 2= q9iar 2 6 X 0 vs-30E gig gR W Y §
TehIgEl 1 9fg w6 2

I FUF F e 1, T= 2 o fawed § 9 598 309 I H 997 i

(1) A 13 %9 1124 59 &
(2) T 1 3R FA 1A A59 21
(3) A 194 B, dfed FuF 11 5593 B

(1) U | WA B, ST F99 11994 B



Options :

92090616501. 1
92090616502. 2
92090616503. 3
92090616504. 4

Question Number : 27 Question Id : 9209064177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the principal operating instrument of monetary
policy of RBI currently?

1.  Repo rate

2. Bankrate

3. Cash Reserve Ratio (CRR)

4. Statutory Liguidity Ratio (SLR)

Options :

92090616505. 1
92090616506. 2
92090616507. 3
92090616508. 4

Question Number : 27 Question Id : 9209064177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gau § Fafafea 1 5 #R-m A, e, fi a9y il = e g=9eE 39w 27

(1) T (2) HH &
(3)  7TE FMER WA (CRR) (4) Hifafas @ w9E (SLR)
Options :

92090616505. 1
92090616506. 2
92090616507. 3
92090616508. 4

Question Number : 28 Question Id : 9209064178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A function is strictly concave in the interval |, if for all @ bel and L (0, 1)
1. f[(1-1)a+ib]=(1-L)f(a)+ Lf(b)
2. fl(1-A)a+ib] <(1-A)f(a)+rf(b)
3. f[(1-n)a+nrb)|=(1-1r)f(a)+Af(b)

4.  f[(1-r)a+ab)|<(1-n)f(a)+nrf(b)

Options :

92090616509. 1
92090616510. 2
92090616511. 3
92090616512. 4

Question Number : 28 Question Id : 9209064178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HE | § W AT AR B, g A a, bel 3R Ae (0, 1) F fow -

1) fl1-Rla+iblz(1-1)f@+Af(b) (@ Fl(1-A)a+ibl<(1-A)f(a)+Af(b)
@  f((1-A)a-ib)=(1-L)a+Lb (1) F((1-R)a+Ab)<ha+Ab

Options :

92090616509. 1
92090616510. 2
92090616511. 3
92090616512. 4

Question Number : 29 Question Id : 9209064179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which body decides the share of states in the tax revenues of the Centre in
India?

1.  NITI Aayog

2. Ministry of Finance
3. Finance Commission
4. Pay Commission

Options :

92090616513. 1
92090616514. 2
92090616515. 3
92090616516. 4

Question Number : 29 Question Id : 9209064179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A # g & F-Ue | 01 6 feerl &1 efatad 4 5 s-m e faita s g

(1)  Hifa smm (2y Tamm 99
(3 o smam (4) T FEm
Options :

92090616513. 1
92090616514. 2
92090616515. 3
92090616516. 4

Question Number : 30 Question Id : 9209064180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Daniel Thorner referred to colonial investment in as “private investment
at public risk”.

1.  cotton textiles
2. iron and steel
3. railways
4.

agriculture



Options :

92090616517. 1
92090616518. 2
92090616519. 3
92090616520. 4

Question Number : 30 Question Id : 9209064180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 sitirafe 39fvEm i 2 a3 caEEtE wien e e ggiiE e

() Fha= (2) ¥ 3
@ W (4 Ffw
Options :

92090616517. 1
92090616518. 2
92090616519. 3
92090616520. 4

Question Number : 31 Question Id : 9209064181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In correlation analysis, we measure the
1. degree of linear association between two variables
degree of causation between two variables

2
3. predictability of two variables
4

regression between two variables

Options :

92090616521. 1
92090616522. 2
92090616523. 3
92090616524. 4

Question Number : 31 Question Id : 9209064181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o7 =Y fayeym O, 89 U199 % B -

(1) =1 = = == fas gy & oo () =
(2) = % 99 wE-%E 599 S (fal) =
@) B & s gEigiEa w

(4) = 99 F €T g #='

Options :

92090616521. 1
92090616522. 2
92090616523. 3
92090616524. 4

Question Number : 32 Question Id : 9209064182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given the assumptions of the classical linear regression model, the ordinary
least square estimators possess some optimum properties—given in the
Gauss-Markov theorem. Which of the following is not a part of this theorem?

1.  The slope estimator Elg is a linear function of random variables
2. The expected value of f’rg is equal to zero

3. No linear unbiased estimator has lower variance then that of ﬁz

4.  The estimator 5 is an unbiased estimator of B,

Options :

92090616525. 1
92090616526. 2
92090616527. 3
92090616528. 4

Question Number : 32 Question Id : 9209064182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR T HHEEY Hige # ORI % dad SR Ha0 F UeEas § $9 72A9 0 8 - A %
E b oA H vew &) efafes § 3 @0 @ o frgm woam T 2

(1) & S b, a5 i e 21

2 P, ® vewfE oE % e Ee

(@) Tl i Frogw (amfiem) e s = waw, B, % vaw d 0 T g g
(1) e By, B w1 Fem (sEfiEa) gEmes 2

Options :

92090616525. 1
92090616526. 2
92090616527. 3
92090616528. 4

Question Number : 33 Question Id : 9209064183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fiscal deficit, revenue deficit and interest payments of a country are
R 53,344, R34,355 and R 10,144 crores respectively. What is the primary
deficit?

1. R 43,200 crores
2. R24.211 crores
3. R44,499 crores
4.

R 10,144 crores

Options :

92090616529. 1
92090616530. 2
92090616531. 3
92090616532. 4

Question Number : 33 Question Id : 9209064183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fdl o0 =1 T9wMi 9, U9 9R ST =9 PAE w®E: 53,344 ., 34,355 F, FR 10,144 %

FAZ 2| wraits 91er 59 87

(1)
(3)

Options :

43,200 FE T
44,499 FE T

92090616529. 1
92090616530. 2
92090616531. 3
92090616532. 4

(2) 24,211 Fg T4
(4) 10,144 F0= 791

Question Number : 34 Question Id : 9209064184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the utility function u(x, y)= xy and given budget constraint M =p, x + PyY .

what is the optimum bundle of consumption of x and y?

Options :

92090616533. 1
92090616534. 2
92090616535. 3
92090616536. 4

Question Number : 34 Question Id : 9209064184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



u(x, y)=xy ITETmE %em 3 & 78 w9 A M=pox+py U ox SRy F 3wEm w0
AT TR R

- f’ﬂﬂ] o (MM
PP, = 2R, 2R, |
|f I

o (24) o (Lt
¥ K ¥ X

Options :

92090616533. 1
92090616534. 2
92090616535. 3
92090616536. 4

Question Number : 35 Question Id : 9209064185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The expansion path identifies

1. the least-cost combination of inputs required to produce various levels
of output

2. the firm's demand curve for inputs

3.  the various combinations of inputs that can be used to produce a given
level of output

4. the least-cost combination of outputs

Options :

92090616537. 1
92090616538. 2
92090616539. 3
92090616540. 4

Question Number : 35 Question Id : 9209064185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fem oy R = 2 -

(1) 3% = fafim & & 3097e & o srEvas Avml & <Had @rE qared|
(2) ¥l % fou ol % o T

(@ sl F fafim waee faa auam fou o gemen = % fom T o w2
(4)  IFUE W A - BT

Options :

92090616537. 1
92090616538. 2
92090616539. 3
92090616540. 4

Question Number : 36 Question Id : 9209064186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The data on State Domestic Product are collected for one state of India for the
period 1990 to 2010. Such a dataset is an example of:

1. cross-sectional data
2. time series data

3. pooled data
4

panel data

Options :

92090616541. 1
92090616542. 2
92090616543. 3
92090616544. 4

Question Number : 36 Question Id : 9209064186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1990 & 2010 7% 1 AUAEY F 60 9E F % U F 09 9iE IWE F Aiee vy o ) g
R 9 YR % Alwe] F e 7

(1) T =fa sisws (WY %) (2) =T ool s
(3) ol e (4) T

Options :



92090616541. 1
92090616542. 2
92090616543. 3
92090616544. 4

Question Number : 37 Question Id : 9209064187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement—I| : In the short-run, the rising part of the marginal cost curve is
due to diminishing marginal product.

Statement—Il :  In the short-run, the falling part of the marginal cost curve
implies existence of diminishing marginal product.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4.

Statement | is false but Statement Il is true

Options :

92090616545. 1
92090616546. 2
92090616547. 3
92090616548. 4

Question Number : 37 Question Id : 9209064187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g % fpm # .

TR 1. FeIEY § HHE A 956 %1 92q1 97 SEEE S0 309 6 R w6 2
w11 . FeyEty d dmm @ 9% w0 R 9w seeE JEE 30 & Gawma = e 2

I HYF & A 4, T G o faweni 4 | geE 3w 3w 99 i

(1) 49 13 (129 a9 #
(2) w13 1131 59
(3)  wEA 15 R, o Fud 1 39 8

(4) FHIAEIE, A TR T R

Options :

92090616545. 1
92090616546. 2
92090616547. 3
92090616548. 4

Question Number : 38 Question Id : 9209064188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Coase theorem states that as long as property rights are
defined and enforced, bargaining between parties can ensure
an efficient outcome in the presence of externalities.

Reason (R) : The assignment of property rights with bargaining among
parties can resolve externality problems, when the number of
parties involved is large.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A} is not correct but (R) is correct

Options :
92090616549. 1



92090616550. 2
92090616551. 3
92090616552. 4

Question Number : 38 Question Id : 9209064188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 21 wyA fgr u # : us wfuEEa (Assertion (A) % ®9 ¥ fafEa 8 A1 250 39 W0 (Reasons
R) FEIH :

Avwya (A): F9 Tog@m Fa0 & F 99 7% 97 sfawnl ®1 ofonfa sk wefa e g,
U F Hr9 Hiears SEaas # ufedfs 1 gaan v gl = asd )

F (R) : UERT o W HicETS! & AT Wl AR 1 A= qEIT IuEsl F R 5
ARl &, W9 T YEHT i #ET AGS w6

I HYA & A H, 9 o 0 el § | Faiias 39w I H 991 Hifa

(1) (A) 3 (R) gH1 7l & 30 (R), (A) i 9 =awe @

2y (A) 3 (R) 2 w4 &, A (R), (A) F =6 = T8 2
(3) (A wE 2, 9 (R) 981 96 B

(4)  (A) = A 2, FfE (R) WA 2

Options :

92090616549. 1
92090616550. 2
92090616551. 3
92090616552. 4

Question Number : 39 Question Id : 9209064189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider an economy with perfect capital mobility, fixed price level and fixed
exchange rate. What will be the effect of a rise in foreign interest rate on output
of this economy?

1. Rise

2. Decline

3. Nochange
4. Can't say



Options :

92090616553. 1
92090616554. 2
92090616555. 3
92090616556. 4

Question Number : 39 Question Id : 9209064189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i O Haer, fRn Fma s B e o awl v sdemen e $if) faEeh e w

Ui EEY 59 ASSEE § I9TE § 9fg WOw w9 Em e

1 a3z (2) FmmEe
(3) IS itaw= T (4) & TE Fwd
Options :

92090616553. 1
92090616554. 2
92090616555. 3
92090616556. 4

Question Number : 40 Question Id : 9209064190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List—I :

List—I

List-II

(A) | The shape of

bads

indifference curve for two

(1

Horizontal, parallel to X-axis,
utility rises as move to a lower
indifference curve

(B) | The shape of

(1)

Concave to the origin

indifference curve for one
good and one bad

(C) | The shape of an|(lll)
indifference curve for one
good Y and one neutral X

(D) | The shape of an|(IV)
indifference curve for one
bad Y and one neutral X

Upward sloping

Horizontal, parallel to X-axis,
utility higher for a higher
indifference curve

Choose the correct answer from the options given below :
1. (AR (BY=(1): (CH(IV): (D))
2. (A)(llY; (B)=(Ilt); (CI-(IV); (D))
3. (A (B)=(I1); (C)=(1); (D)-(IV)

4. (AHIV); B)=(1); (C)-(); (D))

Options :

92090616557. 1
92090616558. 2
92090616559. 3
92090616560. 4

Question Number : 40 Question Id : 9209064190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H=1-1 =1 F7=11-11 | gafaa il

q=1-1 =111
(A) 2 sl % fom e 9% () @9, 3" F mumw, U e
%1 s AEIAN Teh T A T ITGIOA gl A
(B) u% UM 3 uF Wy % o (1) =@ & 4
TZEYA 7 H AHA
(C) T 9" Y 31 v |EA X F () F1H 31 2= 90
foru Aewam o 6 A
D) T FAUE Y 3 US T|EA X F (V) 459, 99 % S9HE, U6 3= AeRad
feu Aeeam a% &1 A % W AH T I gt 2

4= Bu mu ol ¥ 9 w8 I W 999 i

(1) (A)-(I1), (B)~(T), (C)-(IV), (D)-(I1I)
(2) (A)-(IT), (B)-(I11), (C)-(IV). (D)-(I)
(3 (A)-(), (B)-(II), (C)-(T). (I)-(IV)
(4) (A)-(IV}, (B)-(I), (C)-(11I), (D-(1I)

Options :

92090616557 1
92090616558. 2
92090616559. 3
92090616560. 4

Question Number : 41 Question Id : 9209064191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List-l :

List—I List-I
(A) | Evolution of Provincial Finance in British | (l) M. K. Gandhi
India
(B) | Essays on Indian Economics (1) | B. R. Ambedkar
(C) | Hind Swaraj () | Dadabhai Naoroji
(D) | Poverty and Un-British Rule in India (IV) | Mahadev Govind

Ranade

Choose the correct answer from the options given below :
(A)=(IV); (B)=(11); (C)=(11); (D)=(1)
2. (A(I); (BY-(IV); (C){1); (D)~(111)
3. (A(IV); (B)-(ly; (C)(I1); (D)-(1)
4. (A-(I): B (C)-(IN); (D)-(V)

—

Options :

92090616561. 1
92090616562. 2
92090616563. 3
92090616564. 4

Question Number : 41 Question Id : 9209064191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H=1-1 %1 F=1-11 § Faferm i

71 =11
(A) FEEA 6 NfEGMETA B8 3= () W, md
farfem 3fem
(B) wHa WA sz i (1) .3, sEEH
(C) Ta=g w=Ta (IT) BrgmaTs s

(D) wEdig 5[ em s A dfem (V) weeE mige 7

= feu v ol § 9 9E T =994 Hif

(1) (A}(IV), (B)-(1T), (C)-(IIL), (D)-(I}
(2) (A)-(11), (B)-(IV). (C)-(D, (D)-(I1D)
(3) (A)-(IV), (B)-(I1D), (C)-(1L), (D)-(T)
{4) (A)-(ID), (BY~(T), (C)-(111), (Dy-(IV)

Options :

92090616561. 1
92090616562. 2
92090616563. 3
92090616564. 4

Question Number : 42 Question Id : 9209064192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=| with List=ll :

List—I List—II
(A) | Mode (I) | Measure of sampling variability
(B) | Quartile deviation (I1) | Measure of strength of linear relation

(C) | Correlation coefficient | (lll) | Measure of central tendency

(D) | Standard error (IV) | Measure of dispersion

Choose the correct answer from the options given below :

1. (A(I); (B)(I); (C)-(); (D)(IV)

2. (AIVY; (B)=(I); (C)~(1); (D)~(II)
3. (A(I); (B)-(IV); (C)=(II); (D))
4. (A1) B)II); (C)=(iNt); (D)IV)
Options :

92090616565. 1
92090616566. 2
92090616567. 3
92090616568. 4

Question Number : 42 Question Id : 9209064192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 = g4-11 8 gufaa Sifa .

-1 -1
(A) FETH (I) wfees SiEdsiea 1 9=
(B) =gam fa=em (I1) ¥Ras |99 & FfF & 7=
(C) wE=eEYg T (1) *=a g =1 7
D) w7 = (IV) WA #1791

g feu o Tl ° ® wE I w1 999 Fifae .

(1) (A)-(I1I), (B)-(1L), (C)-(L), (D)-(IV)
(2)  (A)V), (B)-{11), (C)-(I), (D)-(1L)
{:3) (A)-(I11), (B)-(IV), (C)-(II). (D)-(T)
(4) (A)-(T), (B)-(1I), (C)-(111), (D)-(IV)



Options :

92090616565. 1
92090616566. 2
92090616567. 3
92090616568. 4

Question Number : 43 Question Id : 9209064193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A general linear programming problem which is a maximization problem in two
decision variables ( xjand x5 ) and two resource constraints (byandb; ) can be

set up in the following way :

A. Specify the inequality constraints also known as the resource constraints
as ayiXq+a8pX=by and aXy+a8xX; <by; and non-negativity
constraints: x4 =0, x; =20.

B. Solve the problem and plot the constraints on a graph in ( %4, X5 ) space to
define the feasible solution.

C. Specify the criterion function which involves maximizing a linear function:
MaXz =%y + Co X5

D. The optimal solutions given by (xj, X5) can be used to find the maximum

value of the objective function z* .

Choose the correct answer from the options given below :

1. D,A B,C

2. C:AB.D

3. C,B,DA

4. D,C, BA
Options :

92090616569. 1
92090616570. 2
92090616571. 3
92090616572. 4

Question Number : 43 Question Id : 9209064193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T e st wwen S @ v w0 (g i xp) SR g HEreR avemasi (b 5 by)
o wfusmadiem q9e &, i FAfaies {fa 5 wnfE s a5 2)

(A) e wemAl a2 SEem "o @ wE S Bl apxg +appXp<b HR
8p1Xq + 8o Xp < by, HEIEA FHAMHA] 3R W FOEEFA Xy 20, Xp =0 =i = w1

(B) H9EH | B HA] 3R AR B I TOATT A & A9 (xq, xp ) FEIRE H AE W aneani
=1 Fremm

(C) 35 W & faftieem s fomd wm wem & st ffm 2 M9z = o + 600

(D) (x§, x3) BRI YEm 35249 Bl &1 IWN S o H1 AUEaE 9E z0 78 & 8 R

el ?

4= fau mu famedl § | HE I @ 99 S0
(1) (D), (A}, (B). (C)
2) (). (A, (B), (D)
(3)  (C).(B), (D), (A)

(4) (D), (C). (B), (A)

Options :

92090616569. 1
92090616570. 2
92090616571. 3
92090616572. 4

Question Number : 44 Question Id : 9209064194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in chronological order starting with the earliest :
A. Nationalization of banks

B. Establishment of RBI

C. Launch of MNREGA

D. Second Five Year Plan

E. Establishment of SEBI

Choose the correct answer from the options given below :
1. D,A,B,E,C
2. B,D,AEC
3. DABCE
4. D,BAEC

Options :

92090616573. 1
92090616574. 2
92090616575. 3
92090616576. 4

Question Number : 44 Question Id : 9209064194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wEH TEe BH 916§ IF Fh Semnaan AefatEa w1 srafem S
(A) =% F WA
(B)  RBI#! &g
(C)  wAam H IEHE
(D) ud T=adiE g

() == Fi =

g feu o fahegi § | TE I W 994 Sifae .

(1
(2)
(3)

(4)

(D), (A), (B). (E), (C)
(B), (D), (A), (E), (C)
(D). (A), (B), (C). (E)

(D), (B), (A), (E). (C)



Options :

92090616573. 1
92090616574. 2
92090616575. 3
92090616576. 4

Question Number : 45 Question Id : 9209064195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the books in chronological order of publication :

A. Theories of Surplus Value

B. The General Theory of Employment, Interest and Money
C. On the Principles of Palitical Economy and Taxation

D. An Inquiry into the Nature and Causes of the Wealth of Nations

Choose the correct answer from the options given below :

1. A B,C,D

2. D,CAB

3. BACD

4. C,B,D A
Options :

92090616577. 1
92090616578. 2
92090616579. 3
92090616580. 4

Question Number : 45 Question Id : 9209064195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G 1 Ih WEEH % HIEHNIEN sqateE Hifg)
(A) HEE 5T s 3

(B) 2 99 @i A% UEEhe, 9 Ug o

(C)  oH g TTHTes 3% Tiiaeshe ShHAH 18 FH9H

(D) A TEEd § 2 T U FEaT A 95y 316 49

A fau o faehedi § 4 WEl 39 % 999 i
(1) (A), (B). (C), (D)
2) (D), (C), (A). (B)
(3)  (B), (AL (C), (D)
(4) (C), (B), (D). (&)

Options :

92090616577. 1
92090616578. 2
92090616579. 3
92090616580. 4

Question Number : 46 Question Id : 9209064196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : The inverse of y =f(x)=¢e" exists for all x>0.
Reason (R) :  f(x) is differentiable and monotonic for all x=0.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)is true but (R) is false
4. (A)is false but (R) is true

Options :
92090616581. 1



92090616582. 2
92090616583. 3
92090616584. 4

Question Number : 46 Question Id : 9209064196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A= 21 %o fgu 7 # ¢ v HimYE (Assertion (A)) % ®9 U foffEd 8 A gE0 39k S0 (Reasons
(R) & &9 ¥ :

A (A): " x>0 & faw y=f(x)=e* = wfoem fammm 21

Fr (R) : it x & fau f(x) wawedE 3 o faufig )

ITIT HYA o Al 4, A4 50 T e 0 1 5E9E 39T I & 969 Sy
(1) (A) 3 (R) 2H1 7 & 3k (R), (A) 51 98 =wen 2

@ (A) 3N (R) 24w E, SRR R), (A) R ud sEmn TE

(3 (A wA R, o (R) wd 6 2

(4) (A HE AE 2, oA (R) HE #

Options :

92090616581. 1

92090616582. 2

92090616583. 3
92090616584. 4

Question Number : 47 Question Id : 9209064197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : According to the first theorem of welfare economics, a

competitive equilibrium is Pareto efficient.

Reason (R) : According to the Walras law, the value of aggregate excess

demand is zero for all prices.

In the light of the above statements, choose the correct answer from the options

given below :
1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)
3. (A)is true but (R) is false
4. (A)is false but (R) is true
Options :

92090616585. 1
92090616586. 2
92090616587. 3
92090616588. 4

Question
Question

Number : 47 Question Id : 9209064197 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

= %1 wYa fgu M E : wF AWEYA (Assertion (A) % ¥ ¥ fafea & 91 950 39S FEO (Reasons

(R)FETH;

AVFE (A) :  Fodl FAGARE F 790 HIA F ATEA-TF T He THe-2H B

FAY (R) : areRE & oW  sER it Sl w o aw st am S oae i de R

TR HYA % A 4, A= feu v faweni 4 5 590 IWE I H 994 il

(1)
(2)
(3
(4)

Options :

(A) 3 (R) 2T 7 # 3 (R), (A) 1 7 =me 2

(A) 3R (R) 391 54 &, 91 (R), (A) #1981 =om=n 74 &
(A) 5El 2, i () @ 78 2

(A) 5l 981 2, &4 (R) 98 2

92090616585. 1



92090616586. 2
92090616587. 3
92090616588. 4

Question Number : 48 Question Id : 9209064198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : A club good is non-rival and excludable in consumption.
Reason(R) : A public good is non-rival and non-excludable in
consumption.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090616589. 1
92090616590. 2
92090616591. 3
92090616592. 4

Question Number : 48 Question Id : 9209064198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 2 wya B o # s 9NEYA (Assertion (A) % ®9 ¥ fafEa B A1 980 38F WU (Reasons
(R)}#Fqﬁ:

HAfirga (A) : U= 4fa F" F5 399 § -vfaerdl SR e 2
FAM(R):  UE AEAAS o T ° W afed] s - e 7

IRIF FYA *® Aers 4, Ji9 G fawedi § | wes I I 999 i

(1) (A) 37 (R) EF1 541 # 3 (R), (A) 1 94 =awe 2

(2 (A FR(R) I w8 A, S (R), (A) w8 s T o
@) (A)FE 2, Al (R) 58 TE 2

(4)  (A) = TE 2, S (R) W R

Options :

92090616589. 1
92090616590. 2
92090616591. 3
92090616592. 4

Question Number : 49 Question Id : 9209064199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : While calculating GDP using the expenditure approach, the
value of imports is subtracted.

Reason (R) : Imports are included when value of consumption and other
components of expenditure are calculated.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3.  (A)istrue but (R) is false

4. (A)is false but (R) is true
Options :
92090616593. 1
92090616594. 2
92090616595. 3



92090616596. 4

Question Number : 49 Question Id : 9209064199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d= g1 wyA fgr o # v qiuEEa (Assertion (A)) % ®9 ¥H fafEa 2 A1 290 38% FWU (Reasons
R FEAH :

AWFE (A): =W IUFW F I A g0 A9 W G R 0 6 A R A 9 i w1
ElaiE]

=0 (R) : 9 I99M 3N = F A EEEl & gEl & oA oS # A e oI
o = 21

I HYH F A 0, = fou e fammei 1 9 wEE 30 I w5 94T iy

(1) (A) 31 (R) 2F1 581 & 30 (R), (A) 1 91 = 2

(2)  (A) IR (R) T A, A (R), (A) F =6 s 76 8
@ (A EE R, A R) T TR

(4) (A= FE R, S (R) 98 #

Options :

92090616593. 1
92090616594. 2
92090616595. 3
92090616596. 4

Question Number : 50 Question Id : 9209064200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) :

Reason (R)

For a differential equation x+ax=b for a=z=0,
F(x)=x=b-ax and the equilibrium is at ng. This

equilibrium is stable for a > 0.

The equilibrium is obtained for x=b-ax=0 or x=

o | o

Stability is obtained when F'(x) is
< 0. Here F'(x)=—-a and so the equilibrium is stable if a> 0.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation

of (A)

3. (A)is true but (R) is false

4. (A)is false but (R) is true

Options :

92090616597 1
92090616598. 2
92090616599. 3
92090616600. 4

Question Number : 50 Question Id : 9209064200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



49 g ®yA B Mo ¥ vF #iMEYE (Assertion (A)) % ®9 ¥ fafEa B 91 ¢80 39F W0 (Reasons
R)FEIY :

HuEaa (A): TF FEEeHg T x+ax=b ¥ az0 & W Xx= F(x)=b-ax 3T T
I:EW%I?EE?;FFI a>0 % fou w=mi 2

FH (R) A TEE .i'=b—-ax=[]1ﬂx=£mmﬂ?ﬁ%1ﬁﬂF'{:x}=G?_,ﬁmﬁl
a
Ut B B9 F(x)=-a 3. 3fg a > 0 1 geger =i 8

I FYA & A °, = e m e 0 3 qe9s I0gE I # 9gq S

(1) (A) R (R) EET 561 & 30 (R), (A) =i 92 =awen 2

(2 (A) FR(R) I FE E, AR (R), (A) B wE = 36 R
(3) (A= 2, S (R) 981 96 8

(4) (A TE A R, o (R)HE R

Options :

92090616597. 1
92090616598. 2
92090616599. 3
92090616600. 4

Question Number : 51 Question Id : 9209064201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—| : When the demand curve shifts : if the supply curve is
steeper, then the price change is larger and the change in
the amount bought and sold is smaller, as compared to the
flatter supply curve.

Statement—Il :  When the supply curve shifts : if the demand curve is
steeper, then the price change is larger and the change in
the amount bought and sold is smaller, as compared to the
flatter demand curve.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4.

Statement | is false but Statement |l is true

Options :

92090616601. 1
92090616602. 2
92090616603. 3
92090616604. 4

Question Number : 51 Question Id : 9209064201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TG Fm femmu g .

FYH1:  FE AW G EIEAAA 21 8 8fg A g% AlauaveRn & 9 F9 WuEen S ahad
s B 2 3R gl =% 1 fafa 1 99 @ 9| F 9 i T 1 I A ofEde
% B 8l

w9 11: 79 Y 9 wEAiE 2 8 afe om 9w wfayavesd @1 @ #0 wEesdd o g &
feufa =i qeFn o Sma giEds s 2 2 3 a5 % % sin e 1 s aE A aiEd
+4 B 8l

I e F A 4, A= fou mu fowmedi d § 996 g I w99 S

(1) #4150 115 & &
(2) e 1 #HR 1 o 8
(3) e 1 HE R, o e 11 5 B
(1) FHIFEWE, I FHIITIE

Options :

92090616601. 1
92090616602. 2
92090616603. 3
92090616604. 4

Question Number : 52 Question Id : 9209064202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I| : Let (X, X,) be the chosen bundle when prices are
(Py. P2) and let (y4, ¥,) is some other bundle such that

PiXq+ PaXo = P Y4+ P2 ¥2. Then if the consumer is choosing
the most preferred bundle she can afford, we must have
(X1, KZ}:"(F-;. .Vz}-

Statement—Il : If one bundle is chosen when another could have been
chosen, we can say that the first bundle is revealed preferred
to the second.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement || are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4.

Statement | is false but Statement Il is true

Options :

92090616605. 1
92090616606. 2
92090616607. 3
92090616608. 4

Question Number : 52 Question Id : 9209064202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d 21 weE feu o E .

FRL: WEE (%, xp) T WE R TG (py, pp) ® A (g, yp) T I FE R,
o B poxq + Poxp = Py + Pa Y, 79 AR Il a3 g aEd waifis S A
=T HA R, A (%, X2) > (yy, ¥p) B AR

FE 11: FE TS A9 & 999 A T 2 FEie ol 1 999 R @ 5Ea o1, ¥ % A99d 2
W4H HYE W gE i de § wrefiesa 39 6 TR

IYH Y F A 4, A= fou m foawed d § 996 I0Ew I w99 S

(1) =R I3 IEH 592
(2) WA 1 3R 11 S TTem 8
(3) w193 2, of =21 1 9 2
() = 1 3HA R, Wi FU 1193 2

Options :

92090616605. 1
92090616606. 2
92090616607. 3
92090616608. 4

Question Number : 53 Question Id : 9209064203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—| : In 2020 a farmer purchased 5 new tractors at 2 2,00,000
each. He sold his 5 old tractors to other farmers for % 50,000
each in same year. The net increase in GDP 2020 due to
these transactions was % 12,50,000.

Statement—Il : In 2020 a farmer purchased 5 new tractors at ¥ 2,00,000
each. He sold his 5 old tractors to other farmers for % 50,000
each in same year. The net increase in GDP of year 2020
due to these transactions was % 10,00,000.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4.

Statement | is false but Statement 1l is true

Options :

92090616609. 1
92090616610. 2
92090616611. 3
92090616612. 4

Question Number : 53 Question Id : 9209064203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 & we Ry o

FE 1 2020 8 v TFEE A 2,00,000 79 9 3 F WA 5 A0 TEA w09 T 99 A S TH
9 50,000 ¥ | H gH THEE w51 fed) 7 w9 9 2020 1 S 6 59 93
12,50,000 ¥74 =i

F I 2020 % us fREM 3 2,00,000 93 9ff 9 1w § 5 90 I9 w3 99 35 5 T
S 50,000 ¥4 w1 =W H g6l FeEEl ®1 w9 g = s | 2020 & i@ 6 5 9
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(1) = 13 2E 7 &
(2) w13 11 EE T
(@) A 14 g, ofed w99 1 s 2
(4)  HE [ WEAE 8, A weE 1199 7

Options :

92090616609. 1
92090616610. 2
92090616611. 3
92090616612. 4

Question Number : 54 Question Id : 9209064204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—| : The price consumption curve is negatively sloped for a Giffen
good.
Statement—Il :  All Giffen goods are inferior goods but all inferior goods are

not Giffen goods.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement |l are true
Both Statement | and Statement |l are false

Statement | is true but Statement |l is false

oW N

Statement | is false but Statement Il is true

Options :



92090616613. 1
92090616614. 2
92090616615. 3
92090616616. 4

Question Number : 54 Question Id : 9209064204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 2 Fe fer o £

w1 Tfa aegs & o a3 9% TFReE eaH 99 2

wgA 11:  wedt Infea =gy gz swq § Ty =il afem Feqy i awqu 741 &)

TR B F T A, 79 oo fawedi 4 3 99n avge I e 9 fife

(1) 94 1 R 11 g 94 7
(2) w1 3R I1EM Tem B
@ THITEE IR IsEEE

(4) FHIFEIE A FTHINTIR

Options :

92090616613. 1
92090616614. 2
92090616615. 3
92090616616. 4

Question Number : 55 Question Id : 9209064205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement—| : When the economy is in liquidity trap, the LM curve is
horizontal.

Statement—Il :  Fiscal policy is ineffective when the economy is in liquidity
trap.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4

Statement | is false but Statement |l is true

Options :

92090616617 1
92090616618. 2
92090616619. 3
92090616620. 4

Question Number : 55 Question Id : 9209064205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
F= g1 we fom

T 1 FE AsEEE Wed-ae | 26l 2 A LM 9 afag g2 2
FuF [1:  F= Hd=gany TEa-949 § 261 2 31 oasnm Jifn et 56 2

ITIT FHYF & A H, A= 20 0 BEEeT § 9 596 30T I H 999 i

(1) =% I3 11 2H ad §
(2) A 1SR 1A T #
(3)  FHA1HE 8, o FoE 17 2
(4) w170 &, oA HEE a8 2

Options :

92090616617. 1
92090616618. 2
92090616619. 3
92090616620. 4



Question Number : 56 Question Id : 9209064206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—| with List=Il :

List—| List-lI
(A) | Cournot Nash equilibrium (1) Price leadership model
(B) | Stackelberg model (Il) | Non-collusive
(C) | Kinked-demand curve model | (lll) First-r:npver advantage fixing
quantities
(D) | Bertrand model (IV) | Price-rigidity model

Choose the correct answer from the options given below :

1. (A1) (B)=(IV); (C)=(lll); (D)(II)

2. (A-(V); B)-(I): (C)-(ll); (D))
3. (AW(); (B)=(I); (C)~(II); (D)IV)
4. (AW(I); (BY(IN): (CIIV): (D)~(1)
Options :

92090616621. 1
92090616622. 2
92090616623. 3
92090616624. 4

Question Number : 56 Question Id : 9209064206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=11 % Fre g1 & fees Hifaw

0! 1L
(A) FAR T T (1) =ma 9 Wiz
(B) wewhoal Higd (IT)  T-Hamsm
(C) T T - |0 = &1 iz (I} WoH a9 = o AEm
(D) e Higd (IV) e A Higad

e feu o famedi H | |E I w999 Hifau

1y (AMI), (B)-(IV), (C)-(TID), (D)-(IT)
(2)  (AMIV), (B)-(IT), (C)-(IIT), (D)-(T)
(3) (A)-(T), (B)-(11T). (C)-(11), (I)-(IV)
(4) (A, (B)-(T), (C)-(IV). (D)-(T)

Options :

92090616621. 1
92090616622. 2
92090616623. 3
92090616624. 4

Question Number : 57 Question Id : 9209064207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List—Il :

List-I List-Il

(A) | Phillips curve () | Consumption per capita
maximum at steady state

(B) | Vertical AS curve (I1) | Debt financing by bond issues
merely postpones taxation

(C) | Golden rule level of savings (ll) | Trade-off between inflation
and unemployment

(D) | Ricardian equivalence (IV) | No long-run trade-off between
inflation and unemployment

Choose the correct answer from the options given below :

1. (AI); (B)=(1); (CH=(IV): (D)~(1I)

2. (A(I; B-(IV); (C)~(1); (D)~(II)
3. (AR(IVY, (BY=(111); (C)=(1); (D)=(11)
4. (A-(I); B)-(V): (C)=(I1); (D)~(1)
Options :

92090616625. 1
92090616626. 2
92090616627. 3
92090616628. 4

Question Number : 57 Question Id : 9209064207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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=1 =11
(A) = T () TR s=en w aia =fE Imam
(B) Zeaiar i Tum AT9H =% (1) =uy= e gm fasia =m0 fawfEs = 2
(C) == =1 =i = (I11) mﬁmiﬂammﬂgﬂ(ﬁﬁﬂmﬁﬁ
)
D) Tremfésm qeam (IV) Wame 3R T & €9 3R detEfy =R sEEn
(et A1)

g feu M Taew § |/ HE I % 9499 il

(1) (A)-(IT), (B)-(I), (C)-(IV), (D)-(I11I)
(2) (AR, (B)-(IV). (C)-(D). (D)-(IT)
(3 (A(IV), (B)-(ID), (C)-(1), (D)-(IT)
i4) (A)-(1I), (B)-(IV). (C)-(1I), (D)-(T)

Options :

92090616625. 1
92090616626. 2
92090616627. 3
92090616628. 4

Question Number : 58 Question Id : 9209064208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=ll :

List-I List—lIl
(A) | Corporate insolvency resolution | (1) Health cover for poor
process and vulnerable families
(B) | Nationally Determined | (Il} | Addressing horizontal
Contribution and vertical imbalances
(C) | Finance Commission (lll) | National Company Law
Tribunal
(D) | Ayushman Bharat PMJAY (IV) | Reduction of carbon
emissions

Choose the correct answer from the options given below :
(A1) (B (CH(IV): (D))
2. (A=) (B)(IV); (C)=(11): (D))
3. (AR (B)=(I); (CH=(I); (D}(IV)
4. (A(); (B)=(1): (CHI); (D)-(IV)

-

Options :

92090616629. 1
92090616630. 2
92090616631. 3
92090616632. 4

Question Number : 58 Question Id : 9209064208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T=1-1 % w1y Hq=1-11 % e Hifaw .

=11 =11
(&) Fofm smvE-wwma (sl (D e 9 eadle ofew = = s
ELIIE R E)
(B) = A w1 fgifE sem (IT) &FF 3R FAERE FaqeHl 1 Fa09q
(C) fam smam (IIT) T SFPal i AT

(D) = wRA 9 e H U aE (IV) e Fease o &l

g feu 7o fowedl o § BE 3w 999 i

(1) (A)-(L). (B)-(IT), (C)-(IV), (D)-(I1L)
(2) (A)-(ILD), (B)-(TV). (C)-(II), (D)~(T)
(3) (A)-(I), (B)-(11), (C)-(1I), (D)-(IV)
(4) (A)-(I1D), (B)-(D), (C)-(I1), (D)-(IV)

Options :

92090616629. 1
92090616630. 2
92090616631. 3
92090616632. 4

Question Number : 59 Question Id : 9209064209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following for natural monopoly :

A. When the firm's average cost of producing a good continuously declines,
a natural monopoly arises.

B. Under natural monopoly, economic profits are positive or greater than
zero in equilibrium.

C. A market is a natural monopoly when a good is produced most
economically by a single firm.

D. Natural monopoly follows marginal cost pricing at all times.
Choose the correct answer from the options given below :
1.  Aand D only
B and D only
A and C only

P N

B and C only



Options :

92090616633. 1
92090616634. 2
92090616635. 3
92090616636. 4

Question Number : 59 Question Id : 9209064209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR TR 7 FefatEs w faaw Fifae
(A) va wH g B a5 % Ieed # sitea orm e et 2 9 o olos o @ 3
Eiell 2l
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(C) &1 99 UF WiSids UHIER B 2 79 el w1 waifas fEeadl §9 8 Iened e W g
T = 2

(D)  Wias TSR Hea HHia @ Hiad H S F) 2

41 fem o famedl @ & T 39 & =94 A
(1) 9 (A) 3 (D)
(2)  aa (B) 3R (D)
(3) A (A) 3R ()
(4)  FFa (B) #X (C)

Options :

92090616633. 1
92090616634. 2
92090616635. 3
92090616636. 4

Question Number : 60 Question Id : 9209064210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following is related to land revenue settlements in colonial India :

A.  Bengal and Bihar had Permanent land revenue settlement, UP and Punjab
had Ryotwari system and Madras Presidency had Mahalwari system.

B. All regions had the same land revenue settlement.

C. Bengal and Bihar had Permanent settiement and UP had Mahalwari
system.

D. Bengal and Bihar had Ryotwari system and Madras Presidency had
Mahalwari system.

E. UP and Punjab had Mahalwari system and Deccan and Madras Presidency
had Ryotwari system.

Choose the correct answer from the options given below :

1. A Eonly

2. C,Donly

3. Bonly

4. C,Eonly
Options :

92090616637 1
92090616638. 2
92090616639. 3
92090616640. 4

Question Number : 60 Question Id : 9209064210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(B) =i &= § §uE Y-TeE seme 91

(C)  =me 3 faen § w99 91 S g § gEreardl gy 6

(D) == 3 faEn d Eaard wan o of v gEWia § AEeErd g o)

(E) i 37 uo" § wEeaEngl vl o i g9 i HEE mEIE 4 tEdard) uen )

4 feu o fomredi | 4 FE 3 w1 997 Hifau
(1) *ad (A). (E)
(2)  F\F(C), (D)
(3) a9 (B)
(1)  =EA (), (E)
Options :
92090616637. 1
92090616638. 2

92090616639. 3
92090616640. 4

Question Number : 61 Question Id : 9209064211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A kinked demand curve under oligopoly necessarily implies
A.  adiscontinuity in the marginal revenue schedule

B. a gap in the marginal cost schedule

C. formal collusion in price determination

D. the price need not be above marginal revenue

Choose the most appropriate answer from the options given below :
1. AandB only
A only

C and D only

Ll

A and D only



Options :

92090616641. 1
92090616642. 2
92090616643. 3
92090616644. 4

Question Number : 61 Question Id : 9209064211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FATITTHR & A v fhe e O 9% = wEvEs =9 8 ffEae g g
(A) W[ TEE A § AEaa
(B) i U S A
(Cy A FgRe | i J9r

(D) A % S0 TEE A S5 A AEEEa T8 2

Hr= fau M fasedl § A |El I w99 Hif
(1)  ==e (A) 37 (B)

2y  F=E (A

(3  FEe (C) 3R (D)

(4)  ad (A) 3 (D)

Options :

92090616641. 1
92090616642. 2
92090616643. 3
92090616644. 4

Question Number : 62 Question Id : 9209064212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider a two-sector model :

Smaller the marginal propensity to save (MPS),
Steeper saving function

Smaller value of the multiplier
Consumption function has flat slope
Larger value of the multiplier

moowpx

Flatter saving function
Choose the most appropriate answer from the options given below :

1. Aand B only

2. CandEonly

3. DandEonly

4. BandD only
Options :

92090616645. 1
92090616646. 2
92090616647. 3
92090616648. 4

Question Number : 62 Question Id : 9209064212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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MPS a1 %1 &rm-

(A) =99 o4 fas 2= T= 8
(B) I HI qod F4 &R

(C)  F0I0T Be FH S 9 28
(D) 7T N g A Fm

(E) == %ed %9 25 a1 B0

dr Teu wv fasredl O | TEl 390 % 994 wHitau :
(1)  ad (A) T (B)
(2)  FEA (C) 3 (E)
(3)  =ad (D) 3R (E)
(4) a4 (B) #R (D)
Options :
92090616645. 1
92090616646. 2

92090616647. 3
92090616648. 4

Question Number : 63 Question Id : 9209064213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—] with List—Il :

List- List—II

(A) | Dandi March (I) | Peasant indebtedness

(B) | Swadeshi Movement (I1) | Peasant freedom over choice of crop

(C) | Champaran Movement | (lll) | State monopoly over salt production

(D) | Deccan Riots (IV) | Deindustrialization

Choose the correct answer from the options given below :
(A)=(IV); (B)~(I1); (C)-(1); (D)1
(A)=(11); (B)=(1V); (C)=(I1); (D))
3. (AHIV); (B)-(I); (C)-(I1); (D)-(1)
4. (Al (BHIV): (C)(1): (D)=(11)

1% R

Options :

92090616649. 1
92090616650. 2
92090616651. 3
92090616652 4

Question Number : 63 Question Id : 9209064213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 % | =11 & T i

i1 -1
(A) =€ aEn () F5% T
(B) +EeE FEeEA (I1) %5 999 T fomael 61 @
(C) =R A (ITT) 9 302 T =T F THITHT
(D) &FR En (V) Tt sitenfrrm

=i feu o Tl © © Wl I W 994 Hifaw .

(1) {(A)-(IV), (B)-(11II), (C)~(I), (D)~(1I)
(2) {(A)-(HIT), (B)-(IV), (C)-(1I), (D)-(T)
(3) (A)-(IV), (B)-(I11). (C)-(11), (D)-(I)
(4) (A)-(I11). (B)-(TV), (C)-(I), (D)-(1T)

Options :



92090616649. 1
92090616650. 2
92090616651. 3
92090616652. 4

Question Number : 64 Question Id : 9209064214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sequence in chronological order of the events in world economy starting
from the earliest is :

A. East Asian Financial Crisis
Outbreak of COVID-19
Global Financial Crisis
War in Ukraine

moow

New Economic Policy (India)

Choose the correct answer from the options given below :
1. EALCB.D

2. 6B ADE

3. B.ACDE

4. C,AB.D.E

Options :

92090616653. 1
92090616654. 2
92090616655. 3
92090616656. 4

Question Number : 64 Question Id : 9209064214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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&) o o faelE awe

(B) wHIfG=-19 % WOhiZ

() dfvas faeim 59

D) THAHIG
(E) =2 famimg ifa (ama)

4= fou T fasredl ® F HE I 1 994 Hifau

(1) (E). (A), (C), (B), (I}
{2) (C), (B), (A). (D). (E)
(3) (B, (A), (C), (D). (E)

(4) (C), (A), (B), (D), (E)

Options :

92090616653. 1
92090616654. 2
92090616655. 3
92090616656. 4

Question Number : 65 Question Id : 9209064215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sequence of wage-price flexibility approach of Pigou is :

A. Wages and prices decline

Real value of assets increases

Cost decline and price decline result in price of assets falling
Unemployment increases

moow

Less savings would be undertaken and consumption increases, output
rises

Choose the correct answer from the options given below :
i. D,A.C,E.B
2. ADC.EB
3. DB.ACBE
4 D,AB.CE

Options :

92090616657. 1
92090616658. 2
92090616659. 3
92090616660. 4

Question Number : 65 Question Id : 9209064215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T % weEt-ue Srsfiea 3T & E -

(A)  Hagl 3 ge8 B Fa 2

(By il = anafas gwg =g 2

(C)  FE BT 1 059 B & THOTH ¥960 THETordl i hidd Bl & |
(D) AT = Rl

(E) &% ==a &rfl 3R 309m | 3fg 7l 8, Ir9g e &

4 fer o Tl § © TEl 39 % 994 Hifaw .

(1) (D), (A). (C). (E). (B)
(2) (A). (D). (C). (E), (B)
(:3) (D), (A). (C), (B), (E)

(4) (D), (A), (B). (C), (E)

Options :

92090616657. 1
92090616658. 2
92090616659. 3
92090616660. 4

Question Number : 66 Question Id : 9209064216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For the per capita production function y =kn'5; what is the level of capital per

capita at steady state assuming depreciation (5 ) = 0.1 and rate of saving = 0.47
The rate of growth of population is assumed as 0.

1. 4
& B
3. 16
4. 2
Options :

92090616661. 1
92090616662. 2
92090616663. 3
92090616664. 4



Question Number : 66 Question Id : 9209064216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ufa =fds e ey = k00 & fom A wEl smen 4w = G = own & Rk omEm
(8)=0.1 3R 7=9a F1 & = 0.4 2| s8N 2 F & 0 FE-A 2

(1) 8] (2 2
(3} 16 (4) ,JE
Options :

92090616661. 1
92090616662. 2
92090616663. 3
92090616664. 4

Question Number : 67 Question Id : 9209064217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LM curve represents the locus of all those combinations of y and | which satisfy

% =L(y, f) for given values of M and P. What is the value cf% ?
i =L
Ly
2 i
L
3.
LY
& 2
LJ’
Options :

92090616665. 1
92090616666. 2
92090616667. 3
92090616668. 4



Question Number : 67 Question Id : 9209064217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LM &% y 3 | % 3 &fl ®areal & fagoy o vl =@ & o fou 7w 9w M SR P % fom

%:L{y,r'} F T T 21 % 1 9F T 27
I

L' L'y
1) ) =5
l:: 1 Lr {- :} Lrl:
) ‘L_f (1) _{“
Li Ly

Options :

92090616665. 1
92090616666. 2
92090616667. 3
92090616668. 4

Question Number : 68 Question Id : 9209064218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose that the manager of a store estimates the probability of any customer
entering the store making a purchase is 0.3. What is the expected number of
customers making a purchase from a randomly selected set of 10 customers?

1. 3
z. F
3. 241
4. 03
Options :

92090616669. 1
92090616670. 2
92090616671. 3
92090616672. 4

Question Number : 68 Question Id : 9209064218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



uen foe forelt g #1 vEEs gEE 0 waW F A Rl oaes g wdiEg e S wiiesa 0.3
AT Fa 21 A1 Agfeos ¥9 H F9HG 10 TEH & 99 5 § Be & 9T Jeh] o T
] R

(1) 3 2y 7
(3) i | 4y 0.3
Options :

92090616669. 1
92090616670. 2
92090616671. 3
92090616672. 4

Question Number : 69 Question Id : 9209064219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a random variable X, it is given that E{XE} =16 and E(X)=2. What is the
value of variance for this distribution?

= B2
2. 14
3. 16
4 2
Options :

92090616673. 1
92090616674. 2
92090616675. 3
92090616676. 4

Question Number : 69 Question Id : 9209064219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s o x % o E(X2)=16 30 E(X)=2 fem 7 &1 39 921 % &0 &1 9 4 87

(1) 12 2y 14
(3) 16 {(4) 2

Options :

92090616673. 1
92090616674. 2
92090616675. 3



92090616676. 4

Question Number : 70 Question Id : 9209064220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the assumptions of the classical linear regression model is that all the
values of the explanatory variable X must

1. all be positive

2. not all be the same
3. all be negative

4. average to zero

Options :

92090616677 1
92090616678. 2
92090616679. 3
92090616680. 4

Question Number : 70 Question Id : 9209064220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FATEhe 1ETE AT gigs &1 U U 98 § T w1 ox & 0

(1) = g E (2) =i e T g
(3 = TR = (1) TR WA I B
Options :

92090616677. 1
92090616678. 2
92090616679. 3
92090616680. 4

Question Number : 71 Question Id : 9209064221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The solution of the difference equation x; = %xH +3 is

1Y
b = EJ (xg-6)+6
.

t

i

2. Xy = ':?" {15—3}—2

i
v T 5]{)(;3—5}—5

1\
4. Xp= E]{xwﬁhz

Options :

92090616681. 1
92090616682. 2
92090616683. 3
92090616684. 4

Question Number : 71 Question Id : 9209064221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F FHE x1=~;-x1_1+3 & B 2

I:_I\'! 1.\[
1) x =;§J (Xg—6)+6 (2) x,:fEJ (g —8)-2
(1Y (1
3) xf:ijJ (X —6)-6 (4 x; :1§J{xﬂ+5}+2
Options :

92090616681. 1
92090616682. 2
92090616683. 3
92090616684. 4

Question Number : 72 Question Id : 9209064222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



M
P

The demand for money L=0.25Y and the supply of money — =500. In this

case

1. the LM curve is vertical and defined by Y =2000 and this defines
the classical case

2. the LM curve is vertical and defined by Y =125 and this defines the
case of liquidity trap

3. the LM curve is upward sloping and defined by Y = 2000

4. the LM curve is horizontal and defined by Y =2000 and this is a
case of liquidity trap

Options :

92090616685. 1
92090616686. 2
92090616687. 3
92090616688. 4

Question Number : 72 Question Id : 9209064222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w1 i L= 0.254 aﬂxg@eﬁmﬁ%:sm 215 ferfa -

(1) LM 9% =i & 310 y = 2000 = g oftaifea # 370 98 0fas 98 &1 9iaied 4 &

() LM =% a2 3 y =125 % zm ufonfgs 21 it 98 e 9= % 9w &1 gionfiE
FAT 7

(3)  LMas 3R F1 50 gegE 2 51y = 2000 % g e 21
(4) LM% 8fa=9 2 3 y = 2000 5 g0 9ieaE | 3T 98 T S 6 O 2

Options :

92090616685. 1
92090616686. 2
92090616687. 3
92090616688. 4

Question Number : 73 Question Id : 9209064223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose the expected rate of inflation in India is 10% whereas that in US is
4%. What is the expected rate of depreciation of Indian rupee vis-a-vis US
Dollar, according to the relative purchasing power parity theory?

1. 6%

2. 3%

3. 14%

4. 25%
Options :

92090616689. 1
92090616690. 2
92090616691. 3
92090616692. 4

Question Number : 73 Question Id : 9209064223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AAT R ATA ST 7R 7 10% & 9afE 4.0, § 9% o 4% 21 afis w5 i am fagm &
¥AER, 4,09, TR H] God § R F9Y F EE B 6 SEIET o a9 87

(1) 6% (2) 3%
(:3) 14% (4) 2.5%
Options :

92090616689. 1
92090616690. 2
92090616691. 3
92090616692. 4

Question Number : 74 Question Id : 9209064224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The economy of INDUS grows at 6% per annum and its investment ratio is
31.2%. What is the capital output ratio of this economy, by the assumptions of
the Harrod-Domar model?

1. 18.72

2. B2

3. 065

4. 456
Options :

92090616693. 1
92090616694. 2
92090616695. 3
92090616696. 4

Question Number : 74 Question Id : 9209064224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T2y &1 wdorae 6% d1fds 1 o § gedl 7| 3N o HEw ST 31.2% )| #E-EhW uigw &

QAT 0 A W e 3ee S R

(1)  18.72 (2) 5.2

(3 065 (4) 486
Options :

92090616693. 1
92090616694. 2
92090616695. 3
92090616696. 4

Question Number : 75 Question Id : 9209064225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Including the Governor of the Reserve Bank of India, how many members are
there in the Monetary Policy Committee?

3. 8
2. F
3. 4
4 6
Options :

92090616697. 1
92090616698. 2
92090616699. 3
92090616700. 4

Question Number : 75 Question Id : 9209064225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR T 3% % e 1 e, difgs ity wfafa § feaa ges @0 #

(1) B & 7
(3 4 (4) 6

Options :

92090616697. 1
92090616698. 2
92090616699. 3
92090616700. 4

Question Number : 76 Question Id : 9209064226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Committee to review the working of monetary system headed by
recommended monetary targeting in India.

1. D.T. Lakdawala
Sukhamoy Chakravarty

C. Rangarajan

ol

Montek Singh Ahluwalia



Options :

92090616701. 1
92090616702. 2
92090616703. 3
92090616704. 4

Question Number : 76 Question Id : 9209064226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i S H Hifaw WOIEt % HE H =) aEten % fon |t fen #1718 e g A |
Hifge wea Wik =1 sgEE # 7

(1) 1.8, A (2) HEaE Fhad
(%  H. T (4) wiZw far AEeEieE
Options :

92090616701. 1
92090616702. 2
92090616703. 3
92090616704. 4

Question Number : 77 Question Id : 9209064227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the Baumol-Tobin transaction demand for money approach, the
optimum number of transactions is

1. inversely related to income and directly related to transaction costs
and interest rate

2. directly related to interest rate and income and inversely related to
transaction costs

3. inversely related to income, interest rate and transaction costs

4. directly related to income, interest rate and transaction costs

Options :

92090616705. 1
92090616706. 2
92090616707. 3
92090616708. 4



Question Number : 77 Question Id : 9209064227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wz1-Togia  fou ane-2ifas S9-2 Wi % wEEn, S94-3 ) sifawan gen 2 -
(1) /W ¥ WA "8y 3 o9-29 @ 31 =309 2 6 Ty @9y

(2) =79 o 30 W9 § Ty ey 3R F9-29 9 8 giaen g9y

(3)  #M, el 30 oH- A | Yaem ey

(4) ¥, =TEe 3N SH-oF A | Yeay Hey|

Options :

92090616705. 1
92090616706. 2
92090616707. 3
92090616708. 4

Question Number : 78 Question Id : 9209064228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

r
8, x : : . .
If —— and ar—f-x are the opportunity costs of producing X in terms of Y in
Ay ay

countries A and B, and F;—X is the international price ratio of X to Y. Both the
Y
countries will go for complete specialization when

7
a8 d

1 LX{JDX{ ";x
dy Py ay

5 af.szX{af_X
ay Py gy

r
5 B _Px 8ix
aly Py 4y

P dfy @
4. X e f;x < LX
Py )y ay

Options :

92090616709. 1
92090616710. 2
92090616711. 3



92090616712. 4

Question Number : 78 Question Id : 9209064228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.
afe A sit B #9 &f Y sfa § X % seaed 61 s oA oLX sin X 3 s v ¥ Wnw X
aLy aly

S e S %Y’f-%mhfﬁf“arii#qjﬁfsm TR ]

r I
a da a a
(1) bx P Bix ¢ - Px .S

(2)

8y Py afy ay Py &y

r r

a p a p a a
&) LX - —X X (4 XXX

ay Pr A&y Py &y A&y
Options :

92090616709. 1
92090616710. 2
92090616711. 3
92090616712. 4

Question Number : 79 Question Id : 9209064229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a random variable X, E(X —u)* =16 [where p=E(X)] and E(X - nf=2.
What is the value of Kurtosis for this variable?

1. 4
S
3. 2
4. 1
Options :

92090616713. 1
92090616714. 2
92090616715. 3
92090616716. 4

Question Number : 79 Question Id : 9209064229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

afe aefems S X, E(X -p)* =16 [F@ pu=E(X)] 3t E(X -p)? =2 & 38 = & fow wefm
1 T R

(1) 4 (2) 8
(3 2 (4) 1

Options :

92090616713. 1
92090616714. 2
92090616715. 3
92090616716. 4

Question Number : 80 Question Id : 9209064230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A consumer has a demand function for good X given by D(P)=100-P . Where

P is the price of good X. If the price of good X is Rs.50, the value of consumer's
surplus is

1. ¥1,250

Z 3750

3. %2250

4. ¥3,050
Options :

92090616717. 1
92090616718. 2
92090616719. 3
92090616720. 4

Question Number : 80 Question Id : 9209064230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
D g WEA (P)=100-P fordfi e i fedfi 9 X S fomamywd 21 58 P 3 X F1 03
Bl afe X w1 9ea 50 5. & A I0ATEN F ATISE 1 qed B -

(1) 1,250 %. (2) 3,7507%.
(3} 2,250'%. {4y 2,250 %.
Options :

92090616717. 1



92090616718. 2
92090616719. 3
92090616720. 4

Question Number : 81 Question Id : 9209064231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The currency to deposit ratio of an economy is 0.2 and the reserve to deposit
ratio is 0.1. The value of the money multiplier is

1. 0.25

2. 033

& 3

4. 4
Options :

92090616721. 1
92090616722. 2
92090616723. 3
92090616724. 4

Question Number : 81 Question Id : 9209064231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
forelt aefemamen Hqz1 1 51 3T 0.2 2 3R S ST F RN 0.1 B 99 % TE0 B 9 B -

(1) 0.25 {2y  0.33
(3 3 {4) 4

Options :

92090616721. 1
92090616722. 2
92090616723. 3
92090616724. 4

Question Number : 82 Question Id : 9209064232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose z=f(x, y) is homogeneous of degree k. Which of the following
statements is true?

1. f—i is homogeneous of degree (k- 2)
[

-2
2. f f is homogeneous of degree (k —1)
£ yox
82z
3. Eyg is homogeneous of degree (k - 2)
&’z
4. —— is homogeneous of degree (k1)
cXcy
Options :

92090616725. 1
92090616726. 2
92090616727. 3
92090616728. 4

Question Number : 82 Question Id : 9209064232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H s s z=F(x, y) Fiaadim o & fefefsm d e s mmsm am 27

0z ; 92z
(1) —, (k=2) =% 5adE 94 £ (2) , (k=1) =1 gaFE 9@ &I
dx dydx
2 2
() ag,{k—Z]mmﬁﬁﬂmijt (4) a_z,{ku1}aa‘rﬂt-|1Fﬁztma%|
dy dxdy
Options :

92090616725. 1
92090616726. 2
92090616727. 3
92090616728. 4

Question Number : 83 Question Id : 9209064233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Second-order Taylor series approximation of f(x)=In{(1+x) at x=0 is

2
X
1 X——
2
2
X
2 X+—
2
2
3 —x—x—
2
2
X
4.  —X+—
2
Options :

92090616729. 1
92090616730. 2
92090616731. 3
92090616732. 4

Question Number : 83 Question Id : 9209064233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x=0 W f(x)=In(1+ x) = fgfa-Fm ¢ d@e &1 I97H 2 -

2 2
X X
(1) N—— {2y X+—
2 2
(3) X x> (4) X+ X
‘ 2 2

Options :

92090616729. 1
92090616730. 2
92090616731. 3
92090616732. 4

Question Number : 84 Question Id : 9209064234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tobin's g ratio refers to

1. the ratio of the market value of the firm's assets to the cost of
producing those assets

2. the ratio of the cost of producing assets to the market value of the
assets

3. the ratio of the PBT (profit before taxes) to the market value of the
firm's assets

4. the ratio of the PBT (profit before taxes) to the cost of producing
those assets

Options :

92090616733. 1
92090616734. 2
92090616735. 3
92090616736. 4

Question Number : 84 Question Id : 9209064234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2T 1 g FHIE g9 # -

(1) Tl v 1 afEnfedl #1 37 TiEfeEl % Iemes i S #1 SR 95 &1 AT
(2) Tl o 3 qitETfeEl % IEA i SR 1 HUE S giET ol 6 6 TR )
(3)  wH & oYl & 990 00 % o PBT (37 @ @9) &1 3HTE|
(4) A viwEfEE % 3emed €1 e & foe PBT (37 @ &) =1 39|

Options :

92090616733. 1
92090616734. 2
92090616735. 3
92090616736. 4

Question Number : 85 Question Id : 9209064235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose that for a random sample of size 10, the value of covariance between
two variables X and Y is 100 and the standard deviations of X and Y are 5 and

20 respectively. What is the value of regression coefficient in regression of ¥
on X ?

1. 4

2. 20

3 1

4. 025
Options :

92090616737. 1
92090616738. 2
92090616739. 3
92090616740. 4

Question Number : 85 Question Id : 9209064235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T w6 B agfeos TE W weR 10 B, 9 90 X 3R Y F #9 gefEen = oaE 100 B #R
X 3R Y %1 9 fagem w99 5 3R 20 31 91 X W Y % wfame 4, S v = W w4 Eem

(1) 4 (2 20
(3) 1 {4) 0.25

Options :

92090616737. 1
92090616738. 2
92090616739. 3
92090616740. 4

Question Number : 86 Question Id : 9209064236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : Between 1901-1951 in India, the relative product per worker
in industry increased from above average to far above
average and the relative product per worker in agriculture
decreased from below average to even further below.

Statement—Il : Between 1901-1951 in India, deindustrialization definitely
occurred.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4.

Statement | is false but Statement |l is true

Options :

92090616741. 1
92090616742. 2
92090616743. 3
92090616744. 4

Question Number : 86 Question Id : 9209064236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 21 %y feu o E .

FH1: WA H 1901 ® 1951 F &=, IO G WG I9E GG FEEAl HEd H A6E 9 99 A
H HHaH B T AN Y § HNE 39 Ui wEEAl SiHd H FH H 9 SE § seqey
LR

F I:  9d d 1901 & 1951 % &= Ffv=a #9 8 e 23907

ITE FYA & A 4, A4 G T e 4 | 996 3w I 99 S

(1) A 13 EH | #

(2)  FA 1R A ToE 2

(3) WU 19l 2, wiT w5y 11 7o 2

(4) U 17 B, @A ad 1184 2
Options :



92090616741. 1
92090616742. 2
92090616743. 3
92090616744. 4

Question Number : 87 Question Id : 9209064237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—I with List—I :

List- ListIl
[Utility functions U(xq, x5)] {MF{S,..T. x,)
(A) | Cx@ B (| Hx2+1)
(X1 +2)
(B) | (¥1+2)(x2+1) (1) J ﬁ\a—i
sz
(C) | ax;+byxy () | —ax;,
.b}ﬁ
©) | (F +x8)° (IV) 2a\xp
b

Choose the correct answer from the options given below :
T (A (BY=(); (CH(1); (DI(IV)
2. (Al (B)(IV); (C)-(I1); (D))
3. (A (BI1): (C)HIV): (D)(1)

4. (A(D); (B)-(V); (C)=(I); (D)1l

Options :

92090616745. 1
92090616746. 2
92090616747. 3
92090616748. 4

Question Number : 87 Question Id : 9209064237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H=-1 % 719 7=1-11 1 faem $ifaw

-1 =11
ERRUAGIB ] (MRS, 4, )
@A) Cxfx3 o et
(X1+2)
B) (x3+2)(x2+1) a-1
m - ﬁ]
\ X2
.bX1
D) (x2 +x3)° 2a.[x
D (x5 +x3) v =4 2

Fra fau mu fameai  § | I = 99 i

(1) (A)-(1T), (B)-(111), (C)-(T), (D)-(IV)
(2)  (A)(IID), (B)-(IV). (C)-(IL). (D)~(T)
(3)  (AMIID, (B)-(D), (C)-(IV), (D)-{II)
(4) (AT, (B)-(IV), (C)-(IT), (DN-(IIT)

Options :

92090616745. 1
92090616746. 2
92090616747. 3
92090616748. 4

Question Number : 88 Question Id : 9209064238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let ﬁt=['€j —q] be a 2 x 2 matrix.
qg p

A.  The rank of matrix A given by r(A) is 3
B. Matrix A is orthogonal if and only if p® + qz =1
p q}

C. Transpose of matrix A is given by AT =[
-q p

D. Determinantof matrixAis |Al=p

Choose the most appropriate answer from the options given below :

1. Aand B only

2. AandConly

3. BandConly

4,  AandD only
Options :

92090616749. 1
92090616750. 2
92090616751. 3
92090616752. 4

Question Number : 88 Question Id : 9209064238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 2 % 2 % 3R % fom A=[g ";]%|

(A)  r(A) 30 Yer HWEgE A T 3 R

(B) 3TSIE A iU &, %ae ol afe p? +q2 =1

& Ar:(n q

] T e WTegE A % fauda 2
g P

() #=E A® B |Al=p

Jr= fau T femedl § | HEE I0gE I F 999 HifA
(1) =99 (A) 3T (B)
(2) A (A) 3R (C)
(3) A=A (B) #R(C)
(4)  wEE (A) (D)

Options :

92090616749. 1
92090616750. 2
92090616751. 3
92090616752. 4

Question Number : 89 Question Id : 9209064239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following points lie in the convex set of points (2, 3) and (4, 1)?
A. (3.6, ,14)

B. (1.2 38)
C. (24, 286)
D. (0.4, 48)

Choose the most appropriate answer from the options given below :
1.  AandB only

B and C only

A and C only

ol

B and D only



Options :

92090616753. 1
92090616754. 2
92090616755. 3
92090616756. 4

Question Number : 89 Question Id : 9209064239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Freferfian faga o | F-, faga (2, 3) 5N (4, 1) % Fade =4 § o1 &7
&) (36, 14)
B (1.2,38)
© (24,2.86)
D) (0.4,4.56)

4= fou mu fawedi § 8 w8 I = 99 il
(1)  #ae (A) 3 (B)
(2)  FEA (B) 30 (C)
(3  FHEA (A) FHR(O)

(4)  FEA (B) ¥ (D)

Options :

92090616753. 1
92090616754. 2
92090616755. 3
92090616756. 4

Question Number : 90 Question Id : 9209064240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider a competitive market :

Suppose per unit commodity tax is imposed on the sellers,

A.  atax on the commodity creates a wedge between the price the buyers pay
and the price which sellers receive.

B. post tax equilibrium quantity increases.

C. if the supply is more elastic than demand then the tax burden falls more
heavily on buyers.

D. if the demand is more elastic than supply then the tax burden falls more
heavily on buyers.

E. imposition of the tax creates dead weight loss.
Choose the most appropriate answer from the options given below :

1. Aand C only

2. CandEonly

3. AC,Eonly

4. BandE only
Options :

92090616757. 1
92090616758. 2
92090616759. 3
92090616760. 4

Question Number : 90 Question Id : 9209064240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= yiaodi sran w faan Fifau) om it i s «w o = 5 (soifedh) == = 3 2
(A)  Tom woifedt m i % TeE qea SR feema g v e 919w giaa w6 2

(B)  wwW9Iiea = S AE gedl 2

() afg smgfd wim & sifas Sl 2 91 %= %= S Fe w s w8 a2 R

(D) Az wm smfd @ sifas FEg 2 @ % o a9 SmE T AEhs ' 8 wiiE g R

(E) & %1 AR g9 (82 92 &id) g +2a1 8|

Hr=1 feu o faseal § | HE 39 1 994 i
(1)  F=a (A) SO

(2)  %a (C) ()

(3)  =FE (A), (C) 3 (E)

(4)  %EH (B) #E(E)
Options :
92090616757. 1
92090616758. 2
92090616759. 3
92090616760. 4

Question Number : 91 Question Id : 9209064241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in the order of occurrence starting from the earliest to the
latest :

A. Ayushman Sahakar Scheme
B. Samarth Scheme or Scheme for Capacity Building in the Textile Sector.

C. Ayushman Bharat Programme or Pradhan Mantri Jan Aarogya Yojana
(PM-JAY).

D. PM Kusum Scheme
E. National Policy for Skill Development and Entrepreneurship

Choose the correct answer from the options given below :

1. D,C,ABE

2. EB,CDA

3. ABCDE

4 B,E,ACD
Options :

92090616761. 1
92090616762. 2
92090616763. 3
92090616764. 4

Question Number : 91 Question Id : 9209064241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frefafga =1 3% afeq 87 % %0 § 798 750 4 ¥4 3 % AgER =atem fifa)
(A)  HEEH 9RA

(B) =% &3 ° "y A1 F aua T A

(C) AT WA FEEA 9 T F9 A@RF g (PM-JAY)

(D)  PM FHH a1

(B) == fowm il wfam ¥ fove ogis ifs

=9 feu T fashedl d A B I W 999 il
(1) (D), (C), (A), (B), (E)
2)  (E) (B (C) (D). (A)
(3 (A) (B, (C), (D), (E)
(4) (B), (E), (A), (C). (D)

Options :

92090616761. 1
92090616762. 2
92090616763. 3
92090616764. 4

Question Number : 92 Question Id : 9209064242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gBinx _ o4Inx 3
Py x| ¥
Le nX _g
Bx 4 x
? dx _2x +C
5 3
X X
2. —+—+C
3
s X X o
———t
5 3
4 x 2x
E =~
4 5 +C
X _gX

Options :

92090616765. 1
92090616766. 2
92090616767. 3
92090616768. 4

Question Number : 92 Question Id : 9209064242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ghinx _ gdinx
J Al x 2Inx e
.,AE - g

B & x 5 3

g™t —g X X
(1) —_—tC 2) —+—+C
Eaix _ezx 5 3
5 3 4x 2x
X" X —
(3 ——-—t (4) =R e
5 3 BZx _ g
Options :

92090616765. 1
92090616766. 2
92090616767. 3
92090616768. 4

Question Number : 93 Question Id : 9209064243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An industry has two firms. They face an inverse demand function P =200-4Q

and a constant unit cost of Rs.8.0. The Cournot duopoly equilibrium price (P)
and Quantity (Q) will be

1. 8, 48 respectively

2. 72, 32 respectively
3. 104, 24 respectively
4. 8, 24 respectively

Options :

92090616769. 1
92090616770. 2
92090616771. 3
92090616772. 4

Question Number : 93 Question Id : 9209064243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TF I H 2 OHH Bl 9 v wiaem gm wEmE P =200 -4Q 1 5 S 8 # T 5 e
8.0 3. 21 71 FATz s aogea g=9 (P) 3 amn (Q) #rfl -

(1) W 8, 48 (2) HEE: 72, 32
(3 O 104, 24 {4y HE: 8, 24
Options :

92090616769. 1
92090616770. 2
92090616771. 3
92090616772. 4

Question Number : 94 Question Id : 9209064244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The simple neoclassical Solow model assumes
1.  Hicks-neutral technological change
2.  Harrod-neutral technological change

Solow-neutral technological change

-l

Pareto-neutral technological change

Options :

92090616773. 1
92090616774. 2
92090616775. 3
92090616776. 4

Question Number : 94 Question Id : 9209064244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T A9-J0AA \iell afaey wfoaa # 2 -

(1) Teom-ggem e afad (2) FAE-3CRE TR gfEda
(3)  HE-IerA TR g (1) TEI-ZeEA T g
Options :

92090616773. 1
92090616774. 2
92090616775. 3
92090616776. 4

Question Number : 95 Question Id : 9209064245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



jmu"dx=?

X

1. 100 +C
In100
100

2 X _up
In100
x+1

3. 1w +C
x+1

x—1

4. 100 +C
x -1

Options :

92090616777. 1
92090616778. 2
92090616779. 3
92090616780. 4

Question Number : 95 Question Id : 9209064245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J 100%dx =7
X 100
(1) 160 +C (2 A +C
In100 In100
x+1 x-1
® _sc @ W0 ¢
x+1 x=-1
Options :

92090616777. 1
92090616778. 2
92090616779. 3
92090616780. 4

Question Number : 96 Question Id : 9209064246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find g—iifo1+y+yJ1+x:D.

1 -1
(1+ x)?
2
2.
(1+x)
o =
J1+ X
1+x
1+y
Options :

92090616781. 1
92090616782. 2
92090616783. 3
92090616784. 4

Question Number : 96 Question Id : 9209064246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g xf1+y +yd1+x=0 @ %Hmmﬁﬁm—
X

(1) = (2) 2
(1+x)2 (1+x)
(3) = g X
: M1+ x 1+y
Options :

92090616781. 1
92090616782. 2
92090616783. 3
92090616784. 4

Question Number : 97 Question Id : 9209064247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose the slope coefficient in regression of Y on Xis 15. What will be the slope
coefficient in regression of Y +10 on X -57

1. 25
2. 10
3. 15
4 20
Options :

92090616785. 1
92090616786. 2
92090616787. 3
92090616788. 4

Question Number : 97 Question Id : 9209064247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T wifae o X W Y & 9fame 4 719 "R 1S # A X -5 W Y +10 & uEmE | 7 5eE
F1 & 7

(1) 25 2y 10
{3) 15 (4) 20
Options :

92090616785. 1
92090616786. 2
92090616787. 3
92090616788. 4

Question Number : 98 Question Id : 9209064248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Suppose the distribution of weights of students in a college is normal with mean
60 kg and standard deviation 3 kg. Which of the following areas from the standard
normal distribution gives the probability of a randomly selected student having
weight less than 66 kg?

1. Areato the left of 2= -2

2. Areatotheleftofz=2

3. Areatotherightofz=2

4. Areatotherightof z=-2
Options :

92090616789. 1
92090616790. 2
92090616791. 3
92090616792. 4

Question Number : 98 Question Id : 9209064248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R ifau fF el =ics 8 ol & 999 1 G 60 kg 9= & |1y A99E # 99 o @=Eea 3 kg B
o " famm 3 Fafates § 8 69 @ 43 ages ®7 8 999 ol %1 wiewa g 2 e
F97 66 kg T FH B¢

(1) z=-27% 91 30w & (2} z=2%F 971 3 F 43
(8) z=2% 26 AW F G (1) z=-2% 2% AW = &5
Options :

92090616789. 1
92090616790. 2
92090616791. 3
92090616792. 4

Question Number : 99 Question Id : 9209064249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If you draw a random sample of size 25 from a population whose standard
deviation is 10, what will be the standard error of sample mean?

1. 20
2 2
3. 4
4. 04
Options :

92090616793. 1
92090616794. 2
92090616795. 3
92090616796. 4

Question Number : 99 Question Id : 9209064249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gfg 9 el SEEm 8 25 % AR & U Ao T siEd w6 # e aes faeem 0 g
T AT < U qfE T4 w2 e
1) 20 2 2
3 4 (4) 0.4
Options :
92090616793. 1
92090616794. 2

92090616795. 3
92090616796. 4

Question Number : 100 Question Id : 9209064250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fully sterilized intervention by the Central Bank at the time of capital inflows leads
to which of the following changes in Central Bank Balance Sheet?

1. Rise in net foreign assets and decline in domestic assets
2. Decline in net foreign assets and rise in domestic assets
3. Rise in both net foreign assets and domestic assets
4.

Decline in both net foreign assets and domestic assets



Options :

92090616797. 1
92090616798. 2
92090616799. 3
92090616800. 4

Question Number : 100 Question Id : 9209064250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T % #d: VAR % 999 $59 4% g ATER | e s e 5 e S @ % qea-mE |
Frefafea ¥ 1 fem ver =1 i = 27

(1)  Tra= faesh snfemal o agmdt ot i snferal 5 3@

(2) = fEsh snfem 4 5w 3R o snferat 0 sgmad

(3  Tram fagsh snfeaal o =ie snfsal 591 o sged

(1)  Tra= fagsh snfemi s @i snfeai 241 1 5@

Options :

92090616797. 1

92090616798. 2

92090616799. 3
92090616800. 4



